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Sample Question:1
Answer: A

A 3.00 kg eagle is flying from right Seat B aadl 56 3.00 kg 4SS il
toleftat 12 m/s. 12m/s e yu

The eagle collides with and sticks aSall ais) 8 ey Likkad aally juuill pdlaal
10 a 1.2 kg drone moving straight down . H)}:'A:;,_}, 1 2’:1’,,‘)_,:; ™ J.

with a speed of 7.5 m/s. 7.5 m/s Ae yus Jl)

»
What is the magnitude of the 5 yidall ¢ )..all,_-,.._}s.\,,“';i\:,l.i.t..
momentum of the eagle-drone system ¢ alabaall ans 8 ke lra
immediately after collision?
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37 kg.m/s

27 kg.m/

23 kg.m/s

45 kg.m/s

Sample Question: 2
Answer: 22.5 (answer ok need text editing english arabic)

A 0.35 kg glass marbie is attached to a rope gy e 0.35 kg WS Lala 33 S
and swings in a vertical circle of radius 1.22 m. 122 m Wy ciuai 8 il JS5 o Lidl ma

The speed of the marble as it passes its 2 mrk S ol 50 3 S o
highest point is 9.5 rn/s. M5 FiSld gU | puall 2o 8 S Ao

gkl 3o 3 SIS Latio Jaall b ol jlake aa
What is the tension in the rope at the highest A dall )L..\ e
point in the marble’s motion. B )

Round your answer to the nearest tenth. Byke gee o M dida) o 8

tension inthe rope (N) = () =(N) Jaalt b 220

;
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Sample Question: 3
Answer: B (correct )

A car is moving away from a motion
detector with a constant speed.

Which graph best represents the motion
of the car?
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Sample Question: 4
Answer: A

A5 kg mass is lifted from the ground to S e ) e 5 kg ASS aua ad ;s al
a height of 10m. 10m &

o Lt awall aua gl 48 Sl ji
The gravitational potential energy of ' $aos

the mass is increased approximately
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Sample Question: 5
Answer: 0.61
Pull Force
il # g
110N

-

The figure shows a wooden box that is
being pulled along a horizontal plane.

According to the figure, what is the
horizontal acceleration of the box to the
left?

Provided that the coefficient of kinetic
friction wood on wood is 0.2

Round your answer to the nearest
hundredth

Horizontal acceleration (m/s?) = [ Z.3)

T o @

r’\(t_ f\
Wolads -4 fe = ™ o,
(W0Sn35 _0.2435 = 10 O

m (s
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Sample Question:6

Answer: D
The diagram below shows a current o gl all 3805 el s ) yeda)
flowing through a wire. g Sl
() «—CURRENT FLOW)
Which of the following represents the bl Naalt daglad Jiay by Laa 5
magnetic field resulting from the curent? tAlL A Ll e e il

OA.

G

1 AfA C A A A

@’t - | ]

q
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Sample Question:6
Answer: C

What energy conversion is taking place in the Saba JA b adall el
figure below?

| nuclear to chemical and A S N Al e

electrical LEERVIN I

os. - N o
‘L electrical to thermal and Ay 5 jadt I A sh e
mechanical iy |
| chemical to themal and g, adl ) aiesh e
| electromagnetic dackliae g gSlly |

mechanical to electrical and A HeSh ) ASHSed e '

chemical Al
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Sample Question:7
Answer: D
How much energy is dissipated by the ) 5 A gaall b sl Al ok L
5 2 resistorin 120 57 )
120 5 » )l

20V

1.2x104J

9.6 x10%J

3
9.6x(D J
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Sample Question: 8
Answer: C
Which of the following figures represents A 5 Jiay G0 Gl p gua I e g

the effect of temperature on resistance %2 siialV) e Ao giiae da fhe o 5 1 jall
made from aluminum?

OA
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Sample Question: 9

Answer: 32.4

Various elongations are produced when a Jana b 55 o 5 a5 6 b il 5y

different objects are attached to a spring. S0 o i laie 4 el BaaY
Adbis, oW e Qldall Liaay 4ilis.

The graph below represents the R

relationship between the object mass and e a‘(ﬁ‘:‘i:é’}( ) A o Al s N adayy

the elongation of the spring. ARG ke y &l 1 (B

Mass vs. Elongation
Uiy Jilie 21

-

w
o
[

'S
1

Mass (kg) 4

|
|
]
|

0.8 1.2

Elongation (m) 4lUaily!

What is the energy stored in the spring OS5 Ladie ol i i A AsalSh ABLl ke L
when the elongationis 1.15 m? € 1.15 m aalUais

Round your answer to the nearest tenth.

Boke e e a8y Slidal o)l

Stored energy (V) = (] = (J) & el dial

pE . N(ea bdwe \N-d) suph ard d aws = LA :%K\.\Sx%ﬁ?jxﬁé’)
Q
PE. =32.u 3
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Sample Question:10
Answer: C

If the distance from point A to point B in the
diagram is 270 ¢m, What is the wave length of
this wave?

EmSAT Sl olial hi!

>3l Ukl g L 270 e g s
Calaal JASH ._r“‘*}"u
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Sample Question:11

Answer: A
A metal bar magnet has a magnetic field in
the region around it. The magnetic fleld
is due to

the motion of charged particles in
the metal

EmSAT el ol e

J}A,)_r.,'huia_}'.y-d}:..);ﬂ_;_}hﬁim
. o bl Mol 1oa 24 g cun

Sl 8 gl Clasall 45 e

an electric current that runs along
the length of the magnet

el 5 e g3l AL sl

radio active particles in the metal

LLPV | PRINCHDYWES

a hidden voitage source in the
metal

Page 12 of 19
2018=2017 ! sl plalt

tnall b i 2 Hlas

palally s 250 Gy

ERPRIPE RN PSR 30




B Ilt e paldt S Hla Yt . )
e A SR EmSATRuALbl

Sample Question:12

Answer: C
Apingpmgbpllmdergoingasimple %mﬁ‘gpﬂﬁu}bﬁsﬁ
harmonic motion over a hard floor takes 0.19 5 glias ‘..aLa e o lgh g dis
to travel from the ground to its S Al Jiu e Jiid 0,19 5 88
highest point. The distance between these . see 4t
points is 87 cm. 87 cm’ BU ] e Vi A1
Calculate the frequency of this harmonic fai gl 5 S AS o i e
mokion.

3o a6 o i ) dlidal o A
Round your answer to the nearst tenth

OA (

OB. l J

‘ 16.5Hz
(
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Sample Question:13
Answer: A

When the amplitude of a sound wave is higher
the ;

EmSAT il il ilisl

o
@L sound will be louder

~

a8l 5 & guall J

O [ sound will be softer

Aagus S8l 4S5 o el J

Or

\ sound waves will befaster

&).J;),S:in:a,mhclyi j

O [ sound waves will slower

sl €5 s guall ol g J
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Sample Question: 14
Answer: C

A ray of light shown below is incident upon @ feia  géie o by i gaia &l slial JS20 mua gy
glass equilateral prism (n = 1.5) A(n=15) A )ay

Y S‘ﬁ-loif'nrg*-g" - ' \.5 LBS = |xﬁ\‘\9r
1&9«#5:(5 Lgy
837" g = 54.8

Determine the angle of the exiting tight £+ LG A gl el o

i 47 2°

OA.
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Sample Question:15
Answer: A

The transition from solid state into a
gaseous state without passing through
liquid state is known as

EmSAT uidl shlell iis)

U0 A et Al b Adiall Aal) e J gadlt
i pag ALLLD Alall 5y el

sublimation

O

O

evaporation

meilting
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Sample Question: 16

Answer: C
In & hydrogen atom. the expected color Alas! ad giall ¢ gaaall gl g gl 8 3 A
emitted due to the transition labeled by B D agds i gall og pSIYE Jus! Aas
arow D is - ' S

orange
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Sample Question: 17
Answer: 2.34

A laser pointer produces green light with sl g pasl g 5l S yua

a wavelength of 532 nm. 532 nm
sall ¢ geaall (aV) Ju 2ol gt o g glll A8 L

What is the energy of a single photon in b s

eV produced by the pointer? el e

Round your answer to the nearest ) | g ‘
hundregth_ e pae g B Slilal o 8

Energy of a single photon in eV = =(g V) S 2l 8 5 ghl) A8

Sample Question: 18
Answer: B

Electrons revolve, around the nucleus in al3i ae A8 gl Jga cilig pSTYY e
orbits that have enerqgy level(s). ] dis L g

variable

~34 R -9
_ bLwn\o x3X\O 3 T4 xi0 TF
; 53Lx\p” 7
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Sample Question: 19
Answer: B |
Electrons in an x-ray imaging medical Al guall isne b g S € s _ ‘

equipment are accelerated from rest 65 KV o jlake 3¢ 5 A Lgaiay iy 2oy
through a potential difference of 65 kV ‘

What is the average speed of each of
these electrons?

151x108m/s

2.33x103m/s

1.072.x108m/s

478x 10°m/s

-y
2x1.04x (0

I

9 1wi5°!
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